C:# Finding Angle between Two Points Name:

Calculate the angle of thecirclerelativeto (0,0). Answers
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Finding Angle between Two Points Name: Answer Key
Calculatethe angle of thecirclerelativeto (0,0). Answers
/A First find the slope. A N\
@s) (VoY) +(X-X) =m @5 1 39.81
' (5-0)+(4-0) =1.25 0 ’
A 23.96
Then find the arc tangent (aka. inverse S 2
tangent) of the slope. / '
\[ » arctan(1.25) = 51.34° Z ! Y/ E 63.43
1) 4 2 4 3 4 4 54.46
/" : - H (112)
A : [ 6.  29.05
: > 2 — : >
7. 33.69
4) A 5) A 6) A
) ) (3.8 : 8. 23.20
(57 @
» /i (9,5)
4 E / i ’,q) 0. 56.31
/! ; > / E > et E > 10. 14.04
11, 7.13
7) A 8) 4 9) 4 6.9)
’,? 12. 12.53
73 /o
(3,2) /Q ( ) ’/, :
’,' . ”,a | . / | .
10) 4 11) A 12) A
9.2
(4,1 ®n 1 . ©
e=" > 0 bee=====y 5,0 Le==ZD —
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Math ] www.CommonCoreSheets.com 11-1218 | 0




	Worksheet
	Answer Key

